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o | ; _Fourth Semester |
Civil Engineéring .
CE 2251/CE 42/0E 1251/080100018/10111 CE 402 — SOIL MECHANICS
' | (Regulation 2008/2010)

. (Common to PTCE 2251/10111 CE 402 — Soil Mechanics for B.E. (Part-Time)
Third Semester — Civil Engineering — Regulation 2009/2010)

. ’I‘,_ime-:- Three hours - ' j Maximum : 100 marks
- | Ar;sﬁre_r ALL que_stidns. |
PART A — (10 x 2 = 20 marks)
1.  Whatis .compaétion curve?
2. Menﬁpn the classiﬁcatic;ri syslte'ms c;f soil.
2 Stata Darcy'éiaw.'
 4. . Define capillafir water.
| 5. -What.is éonsallidat_ion?
6. Give the abD]icétions of ﬁréssﬁre'bulb. .
7 What is II.'meantrby de.viétor.. st.r;a.s.s?_ |
8. '_What are shear strengtl; ﬁarﬁiﬁeters" .
. f.Mentmn the methods of protectmg slopeal of sc;uls.. ': ;

Shl 10 Wnte the expressmn for stablhty number .

e,

-



S () e A partmular soil faﬂed under a major prmmpal stress of 300 kNlm2 w1th a :

S 15."' :_ (a) Calculate the factor of safety w1t:h respect to cohesmn,

o slope in th.lS sml" 3

e (b) ""Explam the followmg mth sketch

.. (b) Eﬁplam the textural class1ﬁcat10n system wi

(b) ,_,Explam un-conﬁned compressmn test w1th neat sketch

PART B — (5 o 16 80 marks)
t ) | Erslsm the factors governmg the compactmn of So.ﬂ
e -'.-.:..01--: N i

th a neat sk_etc'h.__- %

| B
b

( ) Explam the procedure 1nvolved m constant head permeablhty test W1th
a i " s et - v g
Jneatsketch i :;;_-- 4 7

o

(b) A s.smple in a vanable head permeameter is 8 cm in d.tameter and 12 cm

-4
high. The permeabmty of the sample is estimated to be 10x10 5 5cm/setr; _
Ifit is desired that the head in the stand pipe should fall fro}x:a h 1;:}1:11 be_
13 cm in 5 mmutes, determme t:he size of the stand pipe which sho
' used _ :

j (s)_ i Dis'Cuss-the fac_tors-inﬂueneing settlement M@teijsﬁcs of soﬂs,_' i

- Or-‘.."

() A ].me load of 120 kametre run extends to a long d.lstance Determme

- the intensity of vertical stress at a point, 2 metre below the surface and
,(1) directly under the line load, and. (ii) at a dlstance 2 metre
o perpendlcular to the lme Use Boussm.esq 8. theory

e L i

] L

correspondmg minor principal stress of 100 kN/m?. If, for the same soil, : _.
. the minor principal stress had been 200 kN/m?, determine what the L
' major principal stress would have been if (1) ¢ 30 degrees (n) ¢ Zero S

degrees T : :

of a clay slope lald_ o
al fnctmn $=10°,

1t1ca1 herght of the

at'lin 2 to a herght of 10 m, 1f the angle of intern
o0 25 kN/m and y= 19 kN/m What w1]l be the cr

| 0;'--7

-’I‘otsl stress analys1s
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